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FIRST MID TERM EXAMINATION - 2022

6..31‘]) MATHS | | Time: 130 Hrs

Marks : 50

1.

vep ! SECTION - A Ly
Choose the correct answer. E 5X1=5"

The estlmatlon to the nearest hundred of 76812 s
a) 7700 "b) 76000 c) 76800 d) 76900

Which of the following expression Is not zero. -

.'a)oxo‘ - b) 0#£0 »C)% | ,d)%,

. The value of *x' In the circle Is ‘ qp 5 s
-:a)6 byg8  c¢)21 d~)22 %ﬁ : 7

16
Which Is not equivalent ratlo off = 7 7

A / b)lzs ol oW
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i The number of days inw week Is
2 a) 30 W b) 30w ST ew . d) Tw

. Pllllnthablankl L B , 5X1=5

. The smallest7dlgltnumberls AT “ |

658794 1iivsiririnisiiies 658794 (use< "= >) _

. The algebralc stat:ement af S ls dlvlded by 5 Is farapas AR

© 335=9 et |

. 454 (7+48)- 2«-:... ispisssegiigonne s S

"-‘Tmeprum‘ S S Sttt pg” BKAmS

. 134 Is rounded of 25100 to the nearest 100 e e

\,7xzo 4 = 136, e T R A ““‘

w8 7lsequivalentto 21 VLA O T I
7 Ifthe costafapple is’ x and the cost ofbanana ls Rs Sthan the total costf R

oy “'f;fj.-,.'cffrults Is Rs, X + 5. ot T G e S
5, fThe wtal,number of 4 dlglt number Is 9000’
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IV Matchthefollowing. ~ - Yo iy ¥wa Xl &5

1. 100-1 ° - . 3:5 ‘ -

2. 100,100,100 - -~ 4 . .

3. n+3=7 - commutative

4. Ratioof 3to 5 - International system

5. a+b=b+c . - prodecessor .

e SECTION - B A | ,
Write any ﬂve. S e e s 5X2 = 10

Add 54283746 and 59283748, £ 4
* Write the name of the system : i) 8, 47 567 if) 890, 057, 689,
Complete the table and find the value. ’ -

kK | 1|23 }|4]5s
-“'2K.'~z,- 4 | 6

4, Simplify 20 : 5. SRR
5. Express the verbal statement to algebralc statement

WS

e

i) 7 in added to 100 il) 4 times q. _
“5. B Wnte the ratio form circle Is 8 to trlangle ls 7.
T ; - SECTION - c
\" & Anyfour. 2 ‘ -7 5X4= 20

" In an exhibition the number of tlckets sold on ‘the first, second third and
fourth days are 1 10,000, 75. ,060, . 25,7000 and 30,606 respectively.

" Find the total number of tickets sold on all the 4 days.

- 2. In ayear, a whole-sale paper firm sold 6 25,600 notebooks out of 7 50,000

' " notebooks. Find the number of notebooks left unsold:’ .

.3, Out ‘of 50 students in a class 30 are boys. F"nd the ratio of

" I) Number of boys to the number of girls. :

) Number of girls to the total number of students.

b iii) Number of boys t to the total number of students. ,

. iv) Total number of students to the number of boys.” * -

" v) Total number of students to the number of girls. -~ -

" 4, ; Mention the property being lllustrated in each of the cases given below
|)75+34+34+75 ll)50+0 ’ lll)SOXl 'IV)50X1—-51

, ,v)aX(b+c) (aXb)+(aXc)

B Athlyan and Mugllan are brothers. Athlyan is p years old and Mugilan is elder

" to Athiyan by 6 years. Write an algebraic statement for this and ﬂnd the age

of Mugllan lt Athiyan lS 20 years old AP

[y

- -6’- sTD ‘MATHS ’gage .2

3"
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